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Worksheet 1.1: Linear Equations in one Summer 2016

SEW Math 090
variable

1. Solve the following equations.

(a) 4z — 17 =35
P3HF 5 dxs B2 Ly o

= I _-_-BQ-I\_j_ .

X = 223

(b) 13y+4=5(y—4)
'Bj+4 =8y _20 _, 139 —5y < ~20-4

(c) %3—%=—T5§$+%--(1;:r
2x,5, . +£a . <2x<o+5+ax1) 3x3 4|
= =3 1 Xz| —————"=-=1% =
d iV gXtpx=t el o ) [ ] c

5
i (3+5+‘1)’X= 1o _)5 = 3_9: _§_
(d)_v;4 _&4_2 12 € ‘q—l_a:— —3,6"*“’2
q
2:55_‘(253#34-9-3 _,q(zg-q)___g(gg_fg) 9‘=%°?‘_f_
9 »>BY-16 =359, 65 _, -16-€5=359-8y 3

-81 = 27Y _,lﬂ_ Bl o3

2. The sum of two consecutive odd integers is -148. Find the two integers

-Assume n s an ol inkeer s then ny Ny, N+ d il be bel Gonseeudive indegers
.—‘60_) n= ‘!2_& = -q‘g

ntd = -7642= 33 |

3. Wayne County has a sales tax rate of 7%. How much does a used Honda Civic cost before
tax, if the total cost of the car including taz is $13,888.607?

R+n+d = - 148 2n+2 =-KH8 5 2n=

Ht 2y 13, 888. ¢o

loo
lo?
H = 13,885. 60
oo ¢ -
-4 Hs= %’iﬁ&g_o 3 f17980¢
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4. The price of a textbook after a 35% markdown is $29.25. What was the original price?

B -35p _ 29125

[ee

—

€5
T B8-2025 p. 223515 - 45 §

—

5. A salesperson earns $50 a day plus a 12% commission on sales over $200. If their earnings
for the day are $76.88, how much merchandise did they sell?

50-\-‘_:)'_ m = :'1688

loo

12 - =5 !

6. A volleyball court is twice as long as it is wide. If the perimeter is e ft, find the dimensions
of the court. =

legw@® 25 ’“S

“L:52
2(L+w) = 177
L saw = 17750 = 2(2W) Low =137

6w =1#F 3 W=Efg- =29.5 £t

L=2(295) - 5943{_

7. A family builds a rectangular pen for their rabbits, such that the length of the pen is 7 ft
less than twice the width. If the perimeter is 40 ft, what are the dimensions of the pen?

L=aw-3®
2L+W) =40,@ = 2(2W-2 +w) _o
WM-7-2 —w=2% = W= T 9]
L=2W-F = 29 _F =18-F =]
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SEW Math 090 Worksheet 1.2: Inequalities Summer 2016

1. Solve the following inequalities. Give your answer in (i) set builder notation, (ii) interval
notation, and (iii) graphically on a number line.

(a) 2z+6< 4
2% (-2
- X (- (Joy_l] —e 5
-1 -
(b) —2y+4 < 10
- —-’13<6’—>3>-—3 _#(_3’+oo) e
et b el i
-3 )
() —3v>-%
-~ 39<{¥ - 294<2 1~ < 2 g g 3
e o
21
_‘.(__m,%f) %4
(d) %—a.—3_>_5 ‘
- %—a}, '3_...,0.7; %Q.,a»ﬁlo j
J o
20

- [0 ,+00)

!I' 2, The revenue R for selling z fleece jackets is given by the equation R = 49.95z. The cost to
produce z jackets is C = 2300 + 18.50z. Find the number of jackets that the company can
sell to produce a profit. Give your answer in interval notation.

P-R_c Yo
. 49.95% - 2300 _18.5x % o
= 345xY 2300 _y xyF3N3

o—
I + *

= So, the # of Jokels s ar |eas+E 43'.13

3. Find the intersection or union of the following sets, as indicated. Give your answer in
interval notation.

(a') (_275) n [_1’00)

PR [-125)
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e R 7 ]

’e)
kel
(b) (—o00,4) U[~1,5) — = (_c>5)
&— g —0
9 [-1,5)U(0,3) EE——— S AT
-l o 7 5
B o EEER
(d) [_115)0(0,3) } + \ ' (093)
-1 -] 3 5

4. The inequality 4 < t < 1 has no solution. Why not? |

s impessible for the equokon fo bo e no malter chob veke we ofign do the Verreble «
TS means (—oo; ’)ﬂ (.4..#.{',4_'?”) which, hag no  Solution.

5. Solve the compound inequality. Give your answer in (i) set builder notation, (ii) interval
notation, and (iii) graphically on a number line.
(a) 6<32z—-9<0

3 {39 [ £X g
\ A\ 3 \< \<3 033] 4 ) : 7\0(

(b) —1< —22+4<5

-5 {-2x <!
—5' (9((% (—-L )g') ——l—i-——‘__,___>_9(
2 _'/ 0o 5
2 2

() -3<iz<o0

-€ { x40 s
[620) -é\o\)X

(d) 2y—1>3o0ry< -2

W4 Yy2 or yi_a | e -
(= %22) 6 [2 ywoo) —"1‘"’_\9{\}
(e) Su<B5or—v—6<1 ayewer is the whole line!
VL3 or o
V7 vy-? - 1 -;—,»

CIR- -
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Worksheet 1.3: Absolute Value
Equations and Inequalities

SEW Math 090

Summer 2016

For exercises 1-6, solve the equations and the inequalities. For each inequality, express your answer

as a graph and in interval notation.

1. |1'|=3 'X:B, xX-3

-3 ° 3

1]

2. |z]+4=28

|9(I:‘f x=4, x=-4

?—‘b ‘f}

3. |Jw+2| =6
w+2 = t§

w=4) N:-—S

o]

4, |z —4] = -2

|zl <3  _34¢x43

o———0
+ —
-3 3
|z| +4<8
Ixl <4 -4{x<4
o—
e e T
-y 4
|w+2| <6
~6¢w-24¢
-4 {w{8
o0——v
—_‘—
-4 8
|z — 4] < -2

2| >3 =73
x{-3

.____.(:') o—
5 3

(-=53) (3, +oo)

|z|+4>8
pYd x5 4 > x<-4

—0 o——
—_
-y u

(—- sy (4> +°°)

lw+2| > 6
ws2d €

2

w424 -6

:W>“‘ (. o0s-8)0 (YU y)

w{ -8
iy o
.——‘—-—'_"“_"_—'_4—‘_"
-8 q
|z— 4] > -2
R
(=)

\
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5. |z—6]+5=6 |z—6|+5 < 6 |z—6]+56>6

Ix-¢[=1 [x-€) < | -] |
xX_6=| = xX=7F _l(x_g(' “—G>l‘ ‘X>7’
x-6=-I X-¢¢-\ A¢b
>x=5 Bx< ?
5 2 5 7
6. Ty+1|-3=11 Tly+1|-3 < 11 7ly+1/-3 > 11
21941 | = 3+ Flyn] {4 [941] > 2
i) = ol 2 gyl
Hal =2 _3({33?‘(1 Y414-2 W3

Y+l = +2
—_—t
g=1,9= - —E \ -3 \
7. The width, w, of a bolt is supposed to be 2 cm, but it may have a 0.01-cm margin of error.
Solve the inequality |w — 2| < 0.01. What does the solution mean in this context?

lw-2f o0l — -0l w-2{ ool
1.99 .<w{ 2.0l

T means the true Volue of widdh is between 1.99 ang 2.0l.

8. A bag of potato chips states that its weight is 63 oz. The maximum measurement error is
+} oz. Write an absolute value inequality that represents the range for the weight, z, of

the bag of ships. .
- (=621 ¢y
— = W- 6%\4%
3\ €3 , L
—SF-g V¢ 7 v g

—» 6.625B \{ w( £.8%
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